PROFESSIONAL EXAMINATION BOARD

Combined Group-4 Recruitment Test : 2016

18th December 2016, 03:00 PM
Topic:- General Knowledge

1)

Question ID :- (Question ID = 51658 )

Question Description :- HP12 GENERAL KNOWLEDGE SET2Q16
Question Stimulus :-

Who among the following won the men’s singles title of the US Open tennis tournament? /

Prafied @ S .09, e 21 gfie & qo av 3 fareT 87
¢ (Option ID = 146494 )
Andy Murray / E@ﬁ e
e (Option ID = 146495)
Roger Federer / IR Bsw
e (Option ID =146496)
Rafael Nadal / IT%d STl
e (Option ID = 146497 )
Stan Wawrinka / 3¢ qTai¥eT
Option ID :-0Correct Answer :-(Option ID = 146497 ) Stan Wawrinka / e grai®T
2)
Question ID :- (Question ID = 51647 )
Question Description :- HP12 GENERAL KNOWLEDGE_SET2Q5
Question Stimulus :-

Where are the two benches of the High Court of MP situated? / H&d USRT I AT & &
Tsiis pel-oel R 82
e (Option ID = 146450 )
Bhopal, Indore / ‘l-ﬁ'CIWT, ET:aY
e (Option ID =146451)
Bhopal, Jabalpur / 'l-ﬁ'lfﬂ?l, SdAYR
e (Option ID = 146452)

Gwalior, Jabalpur / TdTfeRIR, SIEAYR



e (Option ID = 146453 )
Gwalior, Indore IEIT%TR, 3’23?
Option ID :-0Correct Answer :-(Option ID = 146453 ) Gwalior, Indore / IR, g‘cﬁ?
3)
Question ID :- (Question ID = 51648 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET2Q6
Question Stimulus :-

How many national parks are there in Madhya Pradesh? / & U ¥ fbaq ?T@TI I fya

&2

(Option ID = 146454 )
7

(Option ID = 146455 )

8

(Option ID = 146456 )

9

(Option ID = 146457 )

10

Option ID :-0Correct Answer :-(Option ID = 146457 ) 10

4)

Question ID :- (Question ID = 51651 )

Question Description :- HP12 GENERAL KNOWLEDGE SET2Q9
Question Stimulus :-

What is the present prize money given in Ekalavya Awards by the Madhya Pradesh
Govern%ment? | T USRT WRPR gRIT feT 9 el Ty REPR Dt gadT REHIR MR
frat 82

(Option ID = 146466 )

¥ 25,000

(Option ID = 146467 )

¥ 50,000

(Option ID = 146468 )
¥75,000

(Option ID = 146469 )



Z 1 lakh
Option ID :-0Correct Answer :-(Option ID = 146467 ) ¥ 50,000
S)
Question ID :- (Question ID = 51650 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET2QS8
Question Stimulus :-

For which of the following reasons did Madhya Pradesh Tourism receive an award from the

Lonely Planet Group in 20167 / fFafafEd A I frg R & forw gea ud=r wdest &) At
WHe 9YE Bt 3R A a9 2016 T [REHR UIW §3MT?

e (Option ID = 146462 )
Restoration of Monuments / TIR®1 &1 TgTell
e (Option ID = 146463)
Improvement in Tourism facilities | e '{[ﬁ%ﬂ\’rﬁ ﬁ'{[?ﬂ?
e (Option ID = 146464 )
Conservation of wildlife / = STial T JT&UT
e (Option ID = 146465)

Conservation of ecosystem / UTRTRUTI® =1 BT T&0T
thion ID :-0Correct Answer :-(Option ID = 146464 ) Conservation of wildlife / dq Sital &1
&1
6)

Question ID :- (Question ID = 51654 )
Question Description :- HP12. GENERAL KNOWLEDGE_SET2Q12

Question Stimulus :-

When is the International Day of Rural Women observed? / GI?RT@TI yrtor wfgan feaw wa
HATAT ST 52

« (Option ID = 146478 )

15 October / 15 3{dgdR
e (Option ID =146479)

16 October / 16 3{dgdX
e (Option ID = 146480 )

17 October / 17 3fdgda¥



e (Option ID = 146481 )
18 October / 18 3{dgdR
Option ID :-0Correct Answer :-(Option ID = 146478 ) 15 October / 15 3[dgdR}
7
Question ID :- (Question ID = 51655 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET2Q13
Question Stimulus :-

Who has been appointed as the Chairman of Insolvency and Bankruptcy Board of India? /

fFrafafaa & ¥ fege) urd farar sk 2Meq siemar 918 & sremed ug wR fAged forar mar 82
e (Option ID = 146482 )
Sunil Lamba / g-Tel 1T
e (Option ID = 146483 )
Sushil Chandra / G=itd 9T
o (Option ID = 146484 )
MS Sahoo / TH. TY. dIg
e (Option ID = 146485)
Atul Sobti / 37gd Fradt
Option ID :-0Correct Answer :-(Option ID = 146484 ) MS Sahoo / TH. UY. HIg
8)
Question ID :- (Question ID = 51646 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET2Q4

Question Stimulus :-

In which of the following physiographic pregions does the city Mandsaur come in? lﬁﬂ'\‘ﬁ?

Y1 FFafefaa o & o9 | Yifae a3 o mar 82
« (Option ID = 146446 )
Bundelkhand / §GAEU8
« (Option ID = 146447 )
Malwa / HTddT
« (Option ID = 146448 )
Wainganga Valley / 9<% 9T



e (Option ID = 146449 )
Satpura region / HdYsT &=
Option ID :-0Correct Answer :-(Option ID = 146447 ) Malwa / HTIdl
9)
Question ID :- (Question ID = 51657 )
Question Description :- HP12 GENERAL KNOWLEDGE_SET2Q15
Question Stimulus :-

Which of the following emerged as the cleanest districts in the category of “Plains” in India
in the Gramin Swachh Survekshan launched this year? /s'\tﬁatfﬁuﬁugqmw
gdeur ¥ «quad Y &1 9ol & Fafirfea § | f5a va W@ o wifta fear e

e (Option ID = 146490 )
Satara / HdRT
e (Option ID = 146491 )
Mandi / H8t
e (Option ID = 146492)
Sindhudurg / Riggf
e (Option ID =146493)
Malda / HTcTal
Option ID :-0Correct Answer :-(Option ID = 146492 ) Sindhudurg / ﬁ[ﬂ?ﬂf
10)
Question ID :- (Question ID = 51659 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET2Q17

Question Stimulus :-

The BRICS Summit 2016 held in Khajuraho was to discuss on -/ @RTg! § Smaifora faaa
RrER e 2016 o T=f 1 fawg o1-

e (Option ID = 146498 )

Anti-terror measures / 3Td®-faRI¢ U™y
e (Option ID = 146499 )

Disaster Risk Reduction / 3TU&T Sifad § &4
e (Option ID = 146500 )

Trade Enhancement / ATUIR q@



« (Option ID = 146501 )
Tourism ltITfE'-'-r

Option ID :-0Correct Answer :-(Option ID = 146501 ) Tourism / e
11)

Question ID :- (Question ID = 51645 )

Question Description :- HP12_GENERAL KNOWLEDGE_SET2Q3
Question Stimulus :-

What is the rank of Madhya Pradesh state in India in terms of population?(According to
census 2011) / SIFTHST & 3MTYR U YR § AT USR BT HIF AT TITF g 2(SIIUMAET 2011 S

ITNR)
(Option ID = 146442 )

Third / TRRT

e (Option ID = 146443 )

Fourth / TrdT
e (Option ID = 146444 )
Fifth / OTaai
e (Option ID = 146445)
Sixth / Sedi
Option ID :-0Correct Answer :-(Option ID = 146445 ) Sixth / Fedi
12)
Question ID :- (Question ID = 51649 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET2Q7

Question Stimulus :-

%Vhere are the ‘Bagh Caves’ situated in Madhya Pradesh?/ Tﬁﬂ'ﬂ%"ﬂ o 919 Bi '{':l'CFI'\E,'r ﬁ’f@ﬁ[
2

e (Option ID = 146458 )
Khandwa/&sdl

« (Option ID = 146459 )
ItarsilE'E'R?ﬁ

e (Option ID = 146460 )

Dhaar/9R



e (Option ID = 146461 )
Mandsaur/HgaR
Option ID :-0Correct Answer :-(Option ID = 146460 ) Dhaar/YIR
13)
Question ID :- (Question ID = 51644 )
Question Description :- HP12_GENERAL KNOWLEDGE_SET2Q2
Question Stimulus :-

Which of the following is the state bird of Madhya Pradesh? / fRafifad & @ g we=r &1
IeTB g el AT 82

« (Option ID = 146438 )
Asian Paradise Flycatcher / gURTS
« (Option ID = 146439 )
Indian Roller | TTa®&
« (Option ID = 146440 )
House Sparrow / Yﬁﬁ e
« (Option ID = 146441 )
Greater Flamingo / ITolgd
Option ID :-0Correct Answer :-(Option ID = 146438 ) Asian Paradise Flycatcher / gURTS
14)
Question ID :- (Question ID = 51652 )
Question Description :- HP12_ GENERAL KNOWLEDGE_SET2Q10

Question Stimulus :-

Which of the following dynasties did Yashodharman of Malwa belong to? / HI¢Idl & gEnYyHT
e o 3 foa 931 9 9wfta A2

« (Option ID = 146470 )
Aulikara / 3fifereRT

« (Option ID = 146471)
Gupta / W

e (Option ID = 146472)

Rashtrakuta / IT§PC



« (Option ID = 146473 )
Chandela / dadT

Option ID :-0Correct Answer :-(Option ID = 146470 ) Aulikara / NIRRT
15)

Question ID :- (Question ID = 51653 )

Question Description :- HP12_GENERAL KNOWLEDGE_SET2Q11

Question Stimulus :-

Where was the military exercise Chakravyuh-ll concluded recently? / €T¢1 HE] “dhgg-II’
AT AT T BBl U= T M2

« (Option ID = 146474 )
Punjab / USITd

« (Option ID = 146475)
Haryana / X4TUIT

« (Option ID = 146476 )
Rajasthan / TSR

« (Option ID = 146477 )

Gujarat / T[SIRTd
Option ID :-0Correct Answer :-(Option ID = 146476 ) Rajasthan / ITSTRITH
16)
Question ID :- (Question ID = 51643 )
Question Description :- HP12 GENERAL KNOWLEDGE_SET2Q1
Question Stimulus :-

When was the special purpose vehicle, Madhya Pradesh Road Development Corporation

Ltd. incorporated?/ T® fa=I¥ ITXT 918 HUAL, HH Uex Is& faerg i fafires &t
RITYET fhg a9 $1 15?2

e (Option ID = 146434)
2000

e (Option ID =146435)
2002

e (Option ID =146436)
2004



e (Option ID = 146437 )
2006
Option ID :-0Correct Answer :-(Option ID = 146436 ) 2004
17)
Question ID :- (Question ID = 51656 )
Question Description :- HP12_ GENERAL KNOWLEDGE _SET2Q14
Question Stimulus :-

Where was the first International Agro-biodiversity Congress recently inaugurated? /

frafafea 7 @ wduyw sirffia YS9 fafawyar 1w &1 smaieH w81 W) gon?
« (Option ID = 146486 )
Chandigarh Iii@ﬂTIE
« (Option ID = 146487 )
New Delhi /18 faeeht

e (Option ID = 146488 )

Jaipur / SIQYY
e (Option ID = 146489 )

None of these / ET-I'I?I I ?ﬁ?f Hﬁ
Option ID :-0Correct Answer :-(Option ID = 146487 ) New Delhi F'I'sc ﬁc_vﬁ

Topic:- General English
1)

Question ID :- (Question ID = 51487 )
Question Description :- HP12 GENERAL ENGLISH _SET2Q15
Question Stimulus :-
Fill in the blank with the word given in the bracket along with the correct prefix out of the given four options.
There is huge economic __ (balance) between the two countries.
e (Option ID =145810)
im
e (Option ID = 145811 )
un
e (Option ID =145812)

in



e (Option ID =145813)
pre
Option ID :-0Correct Answer :-(Option ID = 145810 ) im
2)
Question ID :- (Question ID = 51480 )
Question Description :- HP12 GENERAL ENGLISH_SET2Q8
Question Stimulus :-
Out of the given options, choose the one which is the correct indirect speech of the sentence given below.
The servant said to the master, “Pardon my fault, Sir.”
e (Option ID =145782)
The servant ordered his master to pardon his fault
e (Option ID =145783)
The servant advised his master to pardon his fault
e (Option ID = 145784 )
The servant exclaimed his master to pardon his fault
e (Option ID =145785)
The servant begged his master to pardon his fault
Option ID :-0Correct Answer :-(Option ID = 145785 ) The servant begged his master to pardon his fault
3)
Question ID :- (Question ID = 51483 )
Question Description :- HP12_GENERAL ENGLISH_SET2Q11
Question Stimulus :-
Out of the four options given below, choose the one with the correct meaning of the idiom.
“Blessing in disguise”
e (Option ID =145794)
Good people are sometimes dressed in torn clothes
e (Option ID =145795)
A lot of good deeds that do not pay in the long run
e (Option ID =145796)
Something that at first seems good, but later turns out to be useless.

« (Option ID = 145797 )



Something that at first seems bad, but later turns out to be useful.

Option ID :-0Correct Answer :-(Option ID = 145797 ) Something that at first seems bad, but later turns
out to be useful.

4)
Question ID :- (Question ID = 51488 )
Question Description :- HP12_GENERAL ENGLISH_SET2Q16
Question Stimulus :-
A fox was walking through the forest when he saw a crow sitting on a branch of a tree with a fine piece of
cheese in her beak. The fox wanted the cheese and decided he would be clever enough to outwit the bird.
"What a noble and gracious bird I see in the tree!" proclaimed the fox, ""What exquisite beauty! What fair
plumage! If her voice is as lovely as her beauty, she would no doubt be the jewel of all birds." The crow was so
flattered by all this talk that she opened her beak and gave a cry to show the fox her voice. "Caw ! Caw!" she
cried, as the cheese dropped to the ground for the fox to grab.
What is the moral of the given story?
e (Option ID = 145814)
Might is right.
e (Option ID = 145815)
Beauty lies in the eyes of the beholder.
e (Option ID = 145816)
As you sow, so shall you reap
e (Option ID = 145817)
Beware of flatterers.
Option ID :-0Correct Answer :-(Option ID = 145817 ) Beware of flatterers.
S)
Question ID :- (Question ID =51475)
Question Description :- HP12_GENERAL ENGLISH_SET2Q3

Question Stimulus :-

DIRECTIONS: A sentence with an underlined word is given below. Find the word which is opposite to the
highlighted word from the given options.

He was rewarded for showing great courage in the battle.
e (Option ID =145762)
Bravery
e (Option ID = 145763 )

Cowardice



e (Option ID =145764)
Strength
e (Option ID =145765)
Fight
Option ID :-0Correct Answer :-(Option ID = 145763 ) Cowardice
6)
Question ID :- (Question ID = 51484 )
Question Description :- HP12_ GENERAL ENGLISH_SET2Q12
Question Stimulus :-
Two sentences are given below. Choose the correct conjunction to join the given sentences.
You must work hard.
You will not win.
e (Option ID = 145798 )
otherwise
e (Option ID =145799)
though
e (Option ID = 145800 )
although
e (Option ID = 145801 )
despite
Option ID :-0Correct Answer :-(Option ID = 145798 ) otherwise
7
Question ID :- (Question ID =51474)
Question Description :- HP12_GENERAL ENGLISH_SET2Q2
Question Stimulus :-

DIRECTIONS: A sentence with an underlined word is given below. Find the Word which is most similar in
meaning to the underlined word.

This recipe should be sufficient for five people.
e (Option ID = 145758)
Less
e (Option ID =145759)

Tasty



e (Option ID = 145760 )
Enough
e (Option ID = 145761 )
Given
Option ID :-0Correct Answer :-(Option ID = 145760 ) Enough
8)
Question ID :- (Question ID = 51482 )
Question Description :- HP12_ GENERAL ENGLISH_SET2Q10
Question Stimulus :-
Out of the four sentences given below, choose the one which is grammatically incorrect.
e (Option ID =145790)
I saw many sheeps and deers in the fields.
e (Option ID =145791)
You are senior to me by one year.
e (Option ID = 145792 )
One should take care of one’s health.
e (Option ID =145793)
You, he and I went to see the circus.
Option ID :-0Correct Answer :-(Option ID = 145790 ) I saw many sheeps and deers in the fields.
9)
Question ID :- (Question ID = 51476 )
Question Description :- HP12 GENERAL ENGLISH_SET2Q4
Question Stimulus :-
Out of the given four words one is spelt incorrectly. Find the word that is incorrectly spelt
e (Option ID = 145766 )
Entertainment
e (Option ID =145767)
Exitement
e (Option ID = 145768 )

Optimism



e (Option ID = 145769 )
Brilliance
Option ID :-0Correct Answer :-(Option ID = 145767 ) Exitement
10)
Question ID :- (Question ID = 51473 )
Question Description :- HP12_GENERAL ENGLISH_SET2Q1
Question Stimulus :-
Out of the given options which best expresses the meaning of the given proverb?
"The grass is always greener on the other side of the hill."
e (Option ID =145754)
People cover huge distances in order to be near greenery
e (Option ID = 145755)
People tend to want whatever they don't have.
e (Option ID =145756)
Grass grows best in hilly areas
e (Option ID =145757)
Hilly areas are always full of green grass
Option ID :-0Correct Answer :-(Option ID = 145755 ) People tend to want whatever they don't have.
11)
Question ID :- (Question ID = 51481 )
Question Description :- HP12 GENERAL ENGLISH_SET2Q9
Question Stimulus :-
Fill in the blank with the correct word from the options given below.
The defeat in the match had an adverse __ on him.
e (Option ID =145786)
affects
e (Option ID =145787)
effects
e (Option ID = 145788)
affect

« (Option ID = 145789 )



effect
Option ID :-0Correct Answer :-(Option ID = 145789 ) effect
12)
Question ID :- (Question ID =51477)
Question Description :- HP12_GENERAL ENGLISH_SET2Q5
Question Stimulus :-

DIRECTIONS: A sentence with an underlined phrasal verb is given below. Out of the four options, choose the
one which can be substituted for the given phrasal Verb.

Computerization has enabled us to do away with a lot of paperwork.
e (Option ID =145770)
unite
e (Option ID =145771)
reform
e (Option ID =145772)
utilize
e (Option ID =145773)
discard
Option ID :-0Correct Answer :-(Option ID = 145773 ) discard
13)
Question ID :- (Question ID = 51478 )
Question Description :- HP12_GENERAL ENGLISH_SET2Q6
Question Stimulus :-

DIRECTIONS: Two sentences are given below with a blank in each. Fill in the blanks with a pair of suitable
words from the four options for each blank respectively:

She was in Mumbai to__ an award for her latest novel.
The government has few options ___ to keep interest rates high.
e (Option ID =145774)
except, accept
e (Option ID = 145775)
accept, except
e (Option ID = 145776)

except, except



e (Option ID =145777)
accept, accept
Option ID :-0Correct Answer :-(Option ID = 145775 ) accept, except
14)
Question ID :- (Question ID = 51485 )
Question Description :- HP12_ GENERAL ENGLISH_SET2Q13
Question Stimulus :-
Fill in the blank with the correct set of prepositions.
A crack had started___ appear just ____ the light ___ the ceiling.
e (Option ID = 145802)
to, above, on
e (Option ID = 145803 )
of, below, in
e (Option ID = 145804 )
from, below, on
e (Option ID =145805)
for, above, on
Option ID :-0Correct Answer :-(Option ID = 145802 ) to, above, on
15)
Question ID :- (Question ID = 51479 )
Question Description :- HP12 GENERAL ENGLISH_SET2Q7
Question Stimulus :-
Out of the given options, choose the one which is the correct passive voice of the sentence given below.
One should keep one’s promises.
e (Option ID =145778)
Promises can be kept.
e (Option ID =145779)
Promises would be kept.
e (Option ID =145780)
Promises should be kept.

« (Option ID = 145781 )



Promises will be kept.
Option ID :-0Correct Answer :-(Option ID = 145780 ) Promises should be kept.
16)
Question ID :- (Question ID = 51486 )
Question Description :- HP12_GENERAL ENGLISH_SET2Q14
Question Stimulus :-
Choose a word that can be replaced for the given sentence.
“A period of thousand years”
e (Option ID = 145806 )
Decade
e (Option ID = 145807 )
Century
e (Option ID = 145808 )
Centenary
e (Option ID = 145809 )
Millennium
Option ID :-0Correct Answer :-(Option ID = 145809 ) Millennium
17)
Question ID :- (Question ID = 51489 )
Question Description :- HP12_GENERAL ENGLISH_SET2Q17
Question Stimulus :-

DIRECTIONS: Given below are four sentences with an incorrect order. Arrange them in a meaningful order
to form a coherent whole.

P. As a result of adulteration, food or drink
Q. and sometimes harmful quality with food or drink intended to be sold
R. becomes impure and unfit for human consumption
S. Adulteration usually refers to mixing other matter of an inferior
e (Option ID =145818)
SQPR
e (Option ID =145819)
RQPS

« (Option ID = 145820 )



PQRS
e (Option ID = 145821)
QRPS

Option ID :-0Correct Answer :-(Option ID = 145818 ) SQPR

Topic:- General Hindi
1)

Question ID :- (Question ID = 51564 )

Question Description :- HP12_ GENERAL HINDI_SET2Q7
Question Stimulus :-

e & ucy ygenf-u-

(Option ID = 146118 )

ol

(Option ID = 146119 )

S

(Option ID = 146120 )

S

(Option ID = 146121 )
q
Option ID :-0Correct Answer :-(Option ID = 146119 ) 3T
2)
Question ID :- (Question ID = 51571 )
Question Description :- HP12_GENERAL HINDI_SET2Q14
Question Stimulus :-
YUty § THN B-
e (Option ID = 146146)
acgey
e (Option ID = 146147)
HHYRY
e (Option ID = 146148)

EL



« (Option ID = 146149 )

fe

Option ID :-0Correct Answer :-(Option ID = 146148 ) ae

3)

Question ID :- (Question ID = 51572 )

Question Description :- HP12_GENERAL HINDI_SET2Q15

Question Stimulus :-

ifa &Y 19 8 | 3y =g § fopdt smert a1 <y A weIgera WTen I8, 39 #9170 7 & Wifa |
WG B b, -T8] AT, Y9t &t A8t 7 | fpR g omar @ i | v R s vafla sr A @
agwﬁmﬁm%aﬁﬂé’rrrﬁm | T IH DI IRAT T ¢ T&T U7, BTY-IR Sis ford | 9« 3w 7 sifew
U T |

« (Option ID = 146150 )
S GeRfe Fewia urg
« (Option ID = 146151)
Tgpd AT TeT Tt 3T W0 S WR g9 7 918
« (Option ID = 146152)
HgfeT g1a 7 Wifa
« (Option ID = 146153 )
SRIT | ¥ g a1
Option ID :-0Correct Answer :-(Option ID = 146152 ) Wafa= gra = Wifa
4)
Question ID :- (Question ID = 51563 )
Question Description :- HP12_GENERAL HINDI_SET2Q6
Question Stimulus :-
3R T qgTaaTe Weg 3 & 4 781 @-
e (Option ID = 146114 )
CUCE
e (Option ID = 146115)
HEEIT

« (Option ID = 146116 )

BICgip]



e (Option ID = 146117 )
Hd Bbd
Option ID :-0Correct Answer :-(Option ID = 146117 ) 3H{d B dl
S)
Question ID :- (Question ID = 51567 )
Question Description :- HP12_GENERAL HINDI_SET2Q10
Question Stimulus :-
“S1g NP W A T8 fY, a9 DN B g 17 I B-
e (Option ID =146130)
fry ot
e (Option ID =146131)
Y AT
e (Option ID =146132)
JqXA dIH™
e (Option ID =146133)
SWRIed # 9 Pig g1
Option ID :-0Correct Answer :-(Option ID = 146130 ) oy ara
6)
Question ID :- (Question ID = 51562 )
Question Description :- HP12_GENERAL HINDI_SET2QS5
Question Stimulus :-
T HH g BT TG HIfoTC-
(Option ID = 146110)

U
(Option ID = 146111 )

U1

(Option ID = 146112 )
ot

(Option ID = 146113 )



A4

Mg
Option ID :-0Correct Answer :-(Option ID = 146110 ) U
7
Question ID :- (Question ID = 51573)
Question Description :- HP12_GENERAL HINDI_SET2Q16

Question Stimulus :-

ru & I8 g &1 I Fifee-

(Option ID = 146154 )

i

(Option ID = 146155 )

Tt

(Option ID = 146156 )

it

(Option ID = 146157 )

T

Option ID :-0Correct Answer :-(Option ID = 146157 ) Hﬁﬁ'ﬂ

8)

Question ID :- (Question ID = 51570 )

Question Description :- HP12 GENERAL HINDI _SET2Q13
Question Stimulus :-

Sffer+SmaR FY Y R -

(Option ID = 146142 )

SffdsmarR

(Option ID = 146143 )

SIIAR

(Option ID = 146144 )

SR

(Option ID = 146145 )

TR



Option ID :-0Correct Answer :-(Option ID = 146144 ) ITIR
9)
Question ID :- (Question ID = 51559 )
Question Description :- HP12_GENERAL HINDI_SET2Q2
Question Stimulus :-
o wregl & & Iuvwt ¥ed e P ATR?
e (Option ID = 146098 )
HId
e (Option ID = 146099 )
S EIG]
e (Option ID =146100)
3T
e (Option ID =146101)
SAHId
Option ID :-0Correct Answer :-(Option ID = 146100 ) 33T
10)
Question ID :- (Question ID = 51558)
Question Description :- HP12_GENERAL HINDI_SET2Q1

Question Stimulus :-

FEd e T sy E § 2
« (Option ID = 146094 )
AABR BT Y §- SATYWT T TR
« (Option ID = 146095 )
Higd-aefe Tur PR FHeard 2
« (Option ID = 146096 )
ABRI & TN A BT AAIGRI 9 o1l 8
« (Option ID = 146097 )
SWRITd ¥ | $IS T8l
Option ID :-0Correct Answer :-(Option ID = 146097 ) SURIGd A A P 81



11)
Question ID :- (Question ID = 51574 )
Question Description :- HP12_GENERAL HINDI_SET2Q17

Question Stimulus :-

IR & G T BT TG DIfoTL-

(Option ID = 146158 )

o9 a& I udiemsi &1

(Option ID = 146159)
ATead A & | FE =8 g,

(Option ID = 146160 )

a9 d% R ¥ {34l 30 3= Ug W RIS =&l gt |
(Option ID = 146161 )

PIg Ffe T

Option ID :-0Correct Answer :-(Option ID = 146161 ) aﬁs‘ aﬁ' =|€r

12)
Question ID :- (Question ID = 51566 )
Question Description :- HP12_GENERAL HINDI_SET2Q9
Question Stimulus :-
oo & v & e #-
« (Option ID = 146126 )
SUHY, IUHH, JTYRYT 4H, AP g
« (Option ID = 146127 )
ITE, HIY, BN, I
« (Option ID = 146128 )
RIS UG, f[aumE, 3gumE, Jart uE
« (Option ID = 146129 )
Option ID :-0Correct Answer :-(Option ID = 146128 ) RITS T4, fauTa, SgHTa, HaR UG
13)

Question ID :- (Question ID = 51561 )



Question Description :- HP12 GENERAL HINDI SET2Q4
Question Stimulus :-
forar dfekal § ©q &1 9 Pifoe-
« e IRIeE TTH, TSI 30T a1 4T |
S A HH IR YT, FaT &R 9RR 9949 11
e (Option ID =146106)
|
e (Option ID =146107)
C1IE
e (Option ID = 146108 )
|RaT
e (Option ID = 146109 )
e
Option ID :-0Correct Answer :-(Option ID = 146108 ) qRaT
14)
Question ID :- (Question ID = 51565 )
Question Description :- HP12_GENERAL HINDI_SET2QS8

Question Stimulus :-
Frafafeaa e o saad A A S1-91 GeraT Jaiius arde 3-
e (Option ID = 146122)
@ IGHR BT
e (Option ID = 146123 )
' @ ARE g
e (Option ID = 146124 )
GH Qa1 B HITHT
e (Option ID = 146125)
SWRIT | | BIS gl

Option ID :-0Correct Answer :-(Option ID = 146124 ) gH Q&I HY HITAT



15)
Question ID :- (Question ID = 51568 )
Question Description :- HP12_GENERAL HINDI_SET2Q11
Question Stimulus :-
&Y avf e &1 94g gaa: fraa yri & dter T 82
e (Option ID = 146134)
GIE|
e (Option ID =146135)
dR
e (Option ID = 146136)
al
e (Option ID =146137)
U
Option ID :-0Correct Answer :-(Option ID = 146136 ) Eﬂ'
16)
Question ID :- (Question ID = 51560)
Question Description :- HP12_GENERAL HINDI_SET2Q3

Question Stimulus :-

CANCELLED
o fafaa 6 ot & wuw g sifow fAfia 8, Aw ot Siia w0 A wafRya Fifme-
01. URd fafderamsi aran 3= 8 |

7. fiiy ff 71y Y fdlwan sRsaT A gopar 7 |

- UgT 3 Y, MTITE WRARTE yrf} STt & |

T-HIRHR A I qF AR TP & P ab

9- Rd ¥ eReTRIe tear 2 |

06-YRd P AT TH § |

e (Option ID =146102)
g¥ddg

e (Option ID =146103)



RYdd
e (Option ID =146104)
q¥dy
e (Option ID =146105)
RddY
Option ID :-0Correct Answer :-(Option ID = 146103 )Y dd
17)
Question ID :- (Question ID = 51569 )
Question Description :- HP12_GENERAL HINDI_SET2Q12
Question Stimulus :-
[ TR BT g9 PIfoTe-
e (Option ID = 146138)
# AHRIaqd W g Tl
e (Option ID =146139)
A WA S ST YE
e (Option ID = 146140 )
THTRI Igd FT &
e (Option ID = 146141)
9% Qg agd -t
Option ID :-0Correct Answer :-(Option ID = 146139 ) UG T St 3T ?% %

Topic:- General Maths
1)

Question ID :- (Question ID =51740)
Question Description :- HP12_ GENERAL MATHS_SET2Q13
Question Stimulus :-

A train crosses two bridges 740 meters and 960 meters long in 54 and 65 seconds
respectively find the speed of the train./ T& ¢ 740 Hiex 3R 960 Wiz aTs ardt S Yail &!
PURT: 54 3R 65 Ydrs H IR Hdl g1 ¢ B I 1 B

« (Option ID = 146822)
70 kmph/70 foefY. ufer get

« (Option ID = 146823)



72 kmph/72 &Y. ufe ger
e (Option ID = 146824 )
74 kmph/74 . ufa et
e (Option ID = 146825)
76 kmph/76 o, ufa et
Option ID :-0Correct Answer :-(Option ID = 146823 ) 72 kmph/72 T+, ufa ger
2)
Question ID :- (Question ID =51731)
Question Description :- HP12_GENERAL MATHS_SET2Q4
Question Stimulus :-
CANCELLED
Find the wrong term in the given series: / §t g5 il ¥ 7Terq U< 19 B3
2,7,18, 45,99, 209, 431
e (Option ID =146786)
7
e (Option ID = 146787 )
18
e (Option ID = 146788 )
174
e (Option ID = 146789 )
175
Option ID :-0Correct Answer :-(Option ID = 146787 ) 18
3)
Question ID :- (Question ID = 51736 )
Question Description :- HP12_GENERAL MATHS_SET2Q9
Question Stimulus :-

A solutions of salt and water contains 15% salt by weight, out of it 30 kg water evaporates
and the solution now contains 20% of the salt. The original quantity of solution was:/STd

TP P U fAdaT & HR BT 15% AP g, STA I 30 {51 Uit &1 arefieor $37 W)y
fae = § 20% 9P © | 9 faeaq 91 aRdafa® 7 A4t

« (Option ID = 146806 )



100 kg/100 fo3T
e (Option ID = 146807 )
110 kg/110 fFaT
e (Option ID = 146808 )
115 kg/115 foaT
e (Option ID = 146809 )
120 kg/120 fam
Option ID :-0Correct Answer :-(Option ID = 146809 ) 120 kg/120 e
4)
Question ID :- (Question ID = 51738 )
Question Description :- HP12_GENERAL MATHS_SET2Q11
Question Stimulus :-

A pipe of diameter ‘d’ can empty a tank in 40 minutes then how much time will the pipe of
diameter 2d take to empty the tank?/ 'd' ST a1 TS UTSU & GRT PIg U1 Bt davt 40 fiee A
Qe 1 ST el 8, df 2d AT IS UTSY DI S Weil B H ford =1 I07g T2

« (Option ID = 146814)
40 mins/40 fie
« (Option ID = 146815)
20 mins/20 fie
« (Option ID = 146816)
10 mins/10 fiF e
« (Option ID = 146817)
80 mins/80 f&Te
Option ID :-0Correct Answer :-(Option ID = 146816 ) 10 mins/10 fire
5)
Question ID :- (Question ID = 51743 )
Question Description :- HP12_GENERAL MATHS_SET2Q16
Question Stimulus :-

The LCM of two numbers is 210 and their ratio is 2 : 3. The sum of these numbers is:/ 33f

TGS BT A9, 210 § 3NR ITHT AqUTT 2 : 3 7 | 31 T3 BT AN §:

e (Option ID = 146834 )



210

e (Option ID =146835)
175

e (Option ID = 146836 )
315

e (Option ID =146837)

Can’t be determined/fAIeffYd Hﬁ’f T I g@ar
Option ID :-0Correct Answer :-(Option ID = 146835) 175
6)

Question ID :- (Question ID = 51744 )
Question Description :- HP12_GENERAL MATHS_SET2Q17
Question Stimulus :-

The total area of a circle and a square is equal to 2611 sq.cm. The diameter of the circle is
42 cms. What is the sum of the circumference of the circle and the perimeter of the square

2T I 3R T BT Hol ATBA 2611 T VU & TR @ | T BT AN 42 G 8 | T B1 ufveht
3R T & AT T ART F4T 82

e (Option ID = 146838 )
272 cm/272 9
e (Option ID = 146839 )
380 cm/380 T
e (Option ID = 146840 )
280 cm/280 T
e (Option ID = 146841 )
252 cm/252 A
Option ID :-0Correct Answer :-(Option ID = 146838 ) 272 cm/272 Lk
7
Question ID :- (Question ID = 51739 )
Question Description :- HP12_GENERAL MATHS_SET2Q12
Question Stimulus :-

Two friends Tom and Jerry are 12.5 km apart. If they travel in the opposite direction they
meet each other after half an hour and if they travel in the same direction they meet after 2.5

hours. If jerry travels faster what is his speed?/ E’f o ot SR =it U §'\"-ﬁ' ¥ 12.5 & 4t &1



gﬁw%’ | gfe @ S faudia fe=m & 9o & oY Tp g ) 319 o o1 fiyed @ ok afe il U
fewr A g@d & @Y 2.5 G arc firera € | ofe o IS IddT §, dY TP A /T 8?2

e (Option ID = 146818 )

15 kmph/15 f&& H ufaq ger
e (Option ID = 146819 )

13 kmph/13 f& H ufaq ger
e (Option ID = 146820 )

25 kmph/25 f&. 1. ufe ger
e (Option ID = 146821)

Can’t be determined/fifa =1gY farar & G@an
Option ID :-0Correct Answer :-(Option ID = 146818 ) 15 kmph/15 .t ufa ger
8)

Question ID :- (Question ID = 51741 )
Question Description :- HP12_ GENERAL MATHS_SET2Q14
Question Stimulus :-

Mohan is younger than his father by 20 years. 5 years ago his father was 3 times older than

him. Find the age of his father at presentlﬂ"]'&!qél'qefﬁ?ﬂﬁm ﬁ@ﬁﬂ%l 5atfq3:‘w%?fﬁm
Dt MY I &1 7T < | IFF fUar 3 adu= g I/ a B9 |

e (Option ID = 146826 )
30 years/30 CL
e (Option ID = 146827 )
25 years/25 CL
e (Option ID = 146828 )
35 years/35 CL
e (Option ID = 146829 )
None of thesel%T-I'ef | H’ﬁ? 8l
Option ID :-0Correct Answer :-(Option ID = 146828 ) 35 years/35 CL
9)
Question ID :- (Question ID = 51737)
Question Description :- HP12_GENERAL MATHS_SET2Q10

Question Stimulus :-



Albert is thrice efficient as Bijoy and Cherry is twice as efficient as Bijoy. What is the ratio of
number of days taken by Albert, Bijoy and Cherry respectively, when they work

individually?/ 3[e5¢ 3 HriedT fasig @) srdermar ot 69 1 8 iR 3 ot
Friear foog ot srdemar #i 2 | 3rad, faeiyg ok ot & g1 @M arat fe= &t
HEAT BT HHRT: U FT GHIT, 5T d ET 3T BTH H?

e (Option ID = 146810 )
2:6:3
e (Option ID = 146811 )
2:3:6
e (Option ID = 146812 )
2:1:3
e (Option ID = 146813)
3:1:2
Option ID :-0Correct Answer :-(Option ID = 146813 ) 3:1:2
10)
Question ID :- (Question ID = 51730 )
Question Description :- HP12_GENERAL MATHS_SET2Q3

Question Stimulus :-

What will come in place of Question mark (?) in the following number series? | fFafafea
TRST YUITel! § Uearas =g (?) & TITH U= T T2

4,11, 30, 67, 128, (?)
e (Option ID = 146782)
484
e (Option ID = 146783 )
361
e (Option ID = 146784 )
219
e (Option ID = 146785)
421
Option ID :-0Correct Answer :-(Option ID = 146784 ) 219
11)
Question ID :- (Question ID =51733)

Question Description :- HP12 GENERAL MATHS SET2Q6



Question Stimulus :-

A milkman sells 120 liters of milk to the customers for ¥3,360 and the trader sells him 240
liters of milk for ¥6,120. How much extra the milkman recieves per liter of milk from the

customers, when he sells 240 liters of milk. IW'GWIHZO@E? ﬂﬂlﬂﬂﬁaﬁﬂ 360 # IdT
2 3R I I 240 e gy 26,120 F ST § |maaﬁ240?ﬂa§uaaﬁwuﬁriﬂamaﬁ
¥ fasit i sfafvea ure gidt 82

e (Option ID = 146794 )
T2
e (Option ID =146795)
T35
e (Option ID = 146796 )
T25
e (Option ID =146797)
T1.5
Option ID :-0Correct Answer :-(Option ID = 146796 ) ¥ 2.5
12)
Question ID :- (Question ID = 51734 )
Question Description :- HP12_GENERAL MATHS_SET2Q7
Question Stimulus :-

In what time does money becomes double at simple interest rate of 6% per annum?/ fpaa

Y | TP XM 6% ATYRYT ATl BT q1fid g2 I GRIHT g1 SEt?

(Option ID = 146798 )

14.66 Years/14.66 T4
e (Option ID =146799)
15.66 Years./15.66 TH
e (Option ID = 146800 )
16.66 Years/16.66 a4
« (Option ID = 146801 )
17.66 Years/17.66 a¥
Option ID :-0Correct Answer :-(Option ID = 146800 ) 16.66 Years/16.66 CL
13)

Question ID :- (Question ID = 51742 )



Question Description :- HP12 GENERAL MATHS SET2Q15
Question Stimulus :-

An intelligence agency forms a code of two distinct digits selected from 0, 1, 2,..., 9 such
that the first digit of the code is non-zero. The code, handwritten on a slip, can however
potentially create confusion when read upside down — for example, the code 91 may

appear as 16. How many codes are there for which no such confusion can arise?/ ¥
QGfpaT ToiRiT 0, 1, 2,..., 9 T Y IE-3(ET 3P BT TP DIS 39 A8 A TN § fh HIS BT ygan
3P Y T8I g1 | [ W gHfArad Bre HUR 3R 19 A U oM W Yifd I $3 Ihal @,
3eTERUl F Rl - FIs 91, 16 Uelta 1 Wepbar ¢ | VA e Pl & Rrad 1w 30 yoR t B
Yifar Seua 8T 81 APt 82

e (Option ID =146830)
80
e (Option ID = 146831)
78
e (Option ID = 146832 )
71
e (Option ID =146833)
69
Option ID :-0Correct Answer :-(Option ID = 146832 ) 71
14)
Question ID :- (Question ID =51729)
Question Description :- HP12_GENERAL MATHS_SET2Q2

Question Stimulus :-

What should come in place of the question mark (?) in the following question?fﬁ'&lﬁ'@ﬁ
Uy § gyarE® I (?) F RITH UR 71 3T A1eT?

25% of 84 x 24% of 85 =2/ 84 DT 25% x 85 PT124% =?
e (Option ID = 146778 )
424.2
e (Option ID =146779)
488.4
e (Option ID = 146780 )
482.8
e (Option ID = 146781)

428.4



Option ID :-0Correct Answer :-(Option ID = 146781 ) 428.4
15)
Question ID :- (Question ID =51728)
Question Description :- HP12_ GENERAL MATHS_SET2Q1
Question Stimulus :-
The value of 1+{1+1+(1+1+2)}] is: / 1+{1+1+(1+1+2)}] BT HIH %:
e (Option ID = 146774 )
1
e (Option ID = 146775)

3

5

e (Option ID =146776)
2

e (Option ID = 146777 )

1

2

|

Option ID :-0Correct Answer :-(Option ID = 146775 )
16)

Question ID :- (Question ID =51732)

Question Description :- HP12_GENERAL MATHS_SET2QS5
Question Stimulus :-

If the price of coal is increased by 25%, by what percent the consumption of coal must be

reduced so that expenditure is not increased? /Hﬁmaﬁmﬁ%%ﬁq@ﬁ?ﬁ% I
HIga B WUd | fora yfoerd &1 $H H1 9Y o f Siaa & @d WHIg SR A TS |

(Option ID = 146790 )

20%

(Option ID = 146791 )
25%

(Option ID = 146792 )

1

3339,

(Option ID = 146793 )



50%
Option ID :-0Correct Answer :-(Option ID = 146790 ) 20%
17)
Question ID :- (Question ID =51735)
Question Description :- HP12_GENERAL MATHS_SET2Q8

Question Stimulus :-

1

A man loses 122% of his money and after spending 70% of the remainder, he is left ¥210. How much
1

money he initially had? / U SfarT SIU=1t ITFRT BT 125%@%1%&?!?%&?1131%70% Td P &
q1¢ 3P U 2210 Y FIAT 3 | 3R¥ H 3T U fopat iy ofte

« (Option ID = 146802 )
700

« (Option ID = 146803 )
800

« (Option ID = 146804 )
900

« (Option ID = 146805 )
1000

Option ID :-0Correct Answer :-(Option ID = 146803 ) 800

Topic:- General Computer

1)
Question ID :- (Question ID = 51821)
Question Description :- HP12_ COMPUTER _SET2Q11

Question Stimulus :-

The binary system uses power of: Iaﬁtlﬂ ﬁlﬁ'ﬂ_ﬂﬂ UTaR BT SUANT Bl % |
e (Option ID = 147146)
2
e (Option ID = 147147)
10
e (Option ID =147148)
8

« (Option ID = 147149 )



6

Option ID :-0Correct Answer :-(Option ID = 147146 ) 2
2)
Question ID :- (Question ID =51817)
Question Description :- HP12_ COMPUTER _SET2Q7
Question Stimulus :-
What is full form of MODEM?/ATSH &1 [T ATH 3-

e (Option ID =147130)

Modulation And Demodulation/TTSJaRM €S fSUIgaz™
e (Option ID =147131)
Modulator And Demodulator/ Tigdex Us fErtgaer
« (Option ID = 147132)
Modulator And Electronic Demodulator/ 'FﬁT‘gﬁET TS Eﬁﬂﬂﬁﬁ? %Tﬁ;"(ﬁﬁ

« (Option ID = 147133 )

Modulator Or Digital Electronic Demodulator/ Aigciex s f&forea saaeif-a feaIgaex

Option ID :-0Correct Answer :-(Option ID = 147131 ) Modulator And Demodulator/ ATgaeR TS

3)
Question ID :- (Question ID = 51815)
Question Description :- HP12_ COMPUTER _SET2Q5

Question Stimulus :-

BCD code is/ BCD ®IS &-

(Option ID = 147122)

Non-weightedF-Iv'I_-'T [

(Option ID = 147123 )

An alphanumeric code/3[ApRT :{ﬂﬁwm

(Option ID = 147124 )

A binary code/ Hﬁqﬁ IS

(Option ID = 147125)

None of the above/ SURITad & I Hﬁi T-I'epf



Option ID :-0Correct Answer :-(Option ID = 147124 ) A binary code/ ET?FRP[ IS
4)

Question ID :- (Question ID = 51812 )

Question Description :- HP12_ COMPUTER _SET2Q2

Question Stimulus :-

Data communication system spanning states, countries, or the whole world is/ o d @ 19 91 31

e Ireal, it arvyar gl fay # farga -
e (Option ID =147110)
LAN/ &
e (Option ID = 147111)
WAN/ 39
e (Option ID =147112)
MAN/ 3
e (Option ID =147113)

None of the above/ SIRIGT A I ﬂﬁ'ﬁ T-I?T
Option ID :-0Correct Answer :-(Option ID = 147111 ) WAN/ a1
S)

Question ID :- (Question ID = 51825)
Question Description :- HP12 COMPUTER SET2Q15
Question Stimulus :-
RAM is:/RAM g:
e (Option ID =147162)
Random Access Memoryla?a'q Qﬂ\ﬁﬂ AN
e (Option ID =147163)
Read Access Memory/ s Qﬂ'\ﬁﬂ AT
e (Option ID = 147164 )
Random Axis Memory/ Y8 TfRTH A
e (Option ID = 147165)
Read Axis memory/ 318 Tfaad AHRT

Option ID :-0Correct Answer :-(Option ID = 147162 ) Random Access Memory/ YsH TR AHRY



6)
Question ID :- (Question ID = 51823 )
Question Description :- HP12_ COMPUTER _SET2Q13
Question Stimulus :-
Which language does the computer work in?m fa Hmar A &l Hear %?
e (Option ID =147154)
BAsIC/ af®
e (Option ID = 147155)
COBOL/ Hidld
e (Option ID = 147156)
MACHINE/ 9=ii=
e (Option ID = 147157)
FORTRON/ BIReH
Option ID :-0Correct Answer :-(Option ID = 147156 ) MACHINE/ e
7)
Question ID :- (Question ID = 51820 )
Question Description :- HP12_ COMPUTER _SET2Q10
Question Stimulus :-

Which part of the computer is used for calculating and comparing?/ W BT B "I YT 0T 3R
qaT & forg I gar 32

(Option ID = 147142)
Disk unit/ f&¥® gfe

(Option ID = 147143 )

Control unit/ Hrd gi-ie

(Option ID = 147144 )

A.LU./TTAY,
(Option ID = 147145 )

Modem/ HTSH

Option ID :-0Correct Answer :-(Option ID = 147144 ) A.L.U./ €. €d.Y,

8)



Question ID :- (Question ID =51819)
Question Description :- HP12_ COMPUTER _SET2Q9
Question Stimulus :-
Process is/ MY %
e (Option ID =147138)
Program in high-level language kept on disk/ Y& PIICEE] E'IEF%W W 31—5; e dae | ﬁ?ﬂ %
e (Option ID =147139)
Contents of main memory/ B AHI &1 ﬁﬂ'ﬂﬂ?ﬂ
e (Option ID =147140)
A program in execution/ Th U ot Sratfad %
e (Option ID =147141)
A job in secondary memorylﬁﬂ')_sﬂ AN &1 Hrd %

Option ID :-0Correct Answer :-(Option ID = 147140 ) A program in execution/ T URITH Sl HTaif~<ad

®

9)

Question ID :- (Question ID = 51816 )

Question Description :- HP12_ COMPUTER _SET2Q6
Question Stimulus :-

If a computer has more than one processor then it is known as?/ qﬁm & Uy Qﬁﬁ 3firp
TR § 99 U8 $eardl o:

e (Option ID = 147126)
Uni-process/ {ﬁ[-‘)ﬁﬁﬂ
e (Option ID = 147127)
Multiprocessor/ A g
e (Option ID = 147128)
Multithreaded/ T 1ASS
e (Option ID =147129)
Multiprogramming/ A AT
Option ID :-0Correct Answer :-(Option ID = 147127 ) Multiprocessor/ b I 1IR3 R
10)

Question ID :- (Question ID = 51814 )



Question Description :- HP12 COMPUTER SET2Q4
Question Stimulus :-

Which of the following is used for close a tab of a browser?/fAH # T P TSR W UG 29 ! §¢
H & fore Suanft @:

e (Option ID = 147118)
Ctrl+Y
e (Option ID = 147119)
Ctrl+ A
e (Option ID =147120)
Ctrl+ W
e (Option ID =147121)
Ctrl+T
Option ID :-0Correct Answer :-(Option ID = 147120 ) Ctrl + W
11)
Question ID :- (Question ID = 51824 )
Question Description :- HP12_ COMPUTER _SET2Q14
Question Stimulus :-
What type of device is keyboard?/ PIIS (5T PR $t %’H’E’\q %?
e (Option ID =147158)
Memory/ A
e (Option ID =147159)
Output/ 3T3CYc
e (Option ID = 147160 )
Storage/ Tl
e (Option ID = 147161)
Input/ §1Yc
Option ID :-0Correct Answer :-(Option ID = 147161 ) Input/ g9Yc
12)
Question ID :- (Question ID = 51822)
Question Description :- HP12_ COMPUTER _SET2Q12

Question Stimulus :-

https://www.freshersnow.com/previous-year-question-papers/



How are data organized in a spreadsheet?l’x“ﬁ%’ﬂﬂ? | gTeT fog dqaje auaﬁua ﬁ?ﬂ %—
e (Option ID =147150)
Lines & spaces/@Ts—g U8 WY
e (Option ID = 147151)
Layers & Planes/ 90¥ S W=
e (Option ID =147152)
Height & Width/gTse Us fagy
e (Option ID = 147153)
Rows & Columns/ T TS Bl
Option ID :-0Correct Answer :-(Option ID = 147153 ) Rows & Columns/ A9 TS Hia
13)
Question ID :- (Question ID = 51813)
Question Description :- HP12_ COMPUTER _SET2Q3
Question Stimulus :-
What is full form of BMP?/BMP T [RT -TH &:
e (Option ID = 147114 )
Byte map/ d1gC Ay
e (Option ID = 147115)
Bit map/ fac Ay
e (Option ID = 147116 )
Byte map process/ dIgc AT NAY
e (Option ID = 147117)
Bitmap process/ fae Au Uy
Option ID :-0Correct Answer :-(Option ID = 147115 ) Bit map/ faefy
14)
Question ID :- (Question ID = 51811 )
Question Description :- HP12_ COMPUTER _SET2Q1
Question Stimulus :-
CD-ROM/ CD-ROM &

e (Option ID =147106)



Is a semiconductor memory/ Qﬂ?m AR
e (Option ID =147107)
Memory register/ AR o
e (Option ID =147108)
Magnetic memory/ AAfew AR
e (Option ID =147109)
None of the above/ JUNaT H I Hﬁé T-Iﬁ
Option ID :-0Correct Answer :-(Option ID = 147109 ) None of the above/ SR H I Qﬁ? &l
15)
Question ID :- (Question ID = 51818 )
Question Description :- HP12_ COMPUTER _SET2Q8
Question Stimulus :-
Which topology is used in Ethernet?liZRﬁE' # = o Aqrearst Iuanf %?
e (Option ID =147134)
Ring/ o
e (Option ID = 147135)
Mesh/ AT
e (Option ID =147136)
Bus/ 99
e (Option ID =147137)
Line/ dlg+d
Option ID :-0Correct Answer :-(Option ID = 147136 ) Bus/ 99

Topic:- General Aptitude
1)

Question ID :- (Question ID = 51900 )

Question Description :- HP12_ GENERAL APTITUDE_SET2Q13

Question Stimulus :-

Today is Monday. After 61 days, it will be:/3(TST T1HAR & | 61 &1 91¢ gRM:
e (Option ID = 147462 )

Wednesday/dYdiR



« (Option ID = 147463 )
Saturday/RTAR

« (Option ID = 147464 )
Tuesday/HddR

« (Option ID = 147465 )

Thursday/ §gUfdaR

Option ID :-0Correct Answer :-(Option ID = 147463 ) Satu rdayl'ﬂﬁﬂ'l?

2)

Question ID :- (Question ID = 51889 )

Question Description :- HP12_GENERAL APTITUDE_SET2Q2

Question Stimulus :-

DIRECTIONS: In the question below, there are few statements followed by few conclusions.

You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements./AId=T: ﬁ%ﬁqwmﬁwmmaﬁ?mmwﬁwé

MY E | 3Mua! 3T ¢ FiFY Sy Y T U= 8 Ha € 3 Jdard aa S A udfia g el
Tt frewut o1 ufew fb au Fifsre % Ry e el A F 19 J1 aHETd 3U A SGAR0T Hdl
8, 918 Haga A oo W Fl |

Statements:/®Y:
All men are parrots.mﬂ-ﬁ \?fl'la'l:ﬂ, GIG % |
Some parrots are crows./PD ?ﬁﬁ, aﬁ'E % |
All crows are hens./aHt ﬁq, 'ﬁﬁﬁﬁ% |
Conclusions:/fsH:
I. Some men are hens./[$9 e, 'ﬂﬁf*ff% I
Il. No man is hen.lﬁﬁ's: Gm, 'ﬂ‘ﬁﬂﬁ% |
« (Option ID = 147418)
If only Conclusion | follows/Afe Fad s | ST HdT g
« (Option ID = 147419)
If only Conclusion Il follows/af¢ Fad s Il ST HdT g
« (Option ID = 147420)
If either Conclusion | or Il follows/afe a1 fsee 1T 11 ST HdT ?

« (Option ID = 147421)



If both Conclusions | and Il follow/afe g fArswd SrIaRUT Fd §

Option ID :-0Correct Answer :-(Option ID = 147420 ) If either Conclusion | or Il follows/afe T
forsadf | 3T 11 SRR FRAT B

3)
Question ID :- (Question ID = 51903 )
Question Description :- HP12 GENERAL APTITUDE_SET2Q16
Question Stimulus :-
DIRECTIONS: In the question, relationship between different elements is shown in the Statements.
These Statements are followed by two Conclusions. Read the conclusions based on the statements
carefully and choose the certain answer from the given options./fq=r: i feT Tt yy &, Fy 4 5
3agal & fg ® gra gRT MU € | FYl & a1¢ ey 3w 1w § | #yAT wR st fsesf @) erryde ufee
3R fod T # | ve FAf¥a S &1 9= IR |
Statements:/®Y:
Z>P,P<M,M<J
Conclusions:/fTsHH:
. P<J
. J<zZ
e (Option ID =147474)
If only Conclusion | follows/afe Fad s | ST HdT ?
e (Option ID = 147475)
If only Conclusion Il followsrafe Fae fssd Il ST HdT ?
e (Option ID =147476)
If either Conclusion | or Il follows/afe T af forswd 1 T 11 ST HdT ?
e (Option ID = 147477)

If both Conclusions | and Il follow/afe & frsatd GIWW%

Option ID :-0Correct Answer :-(Option ID = 147474 ) If only Conclusion | follows/afe Had

frepd | sIgRUT R ?

4)

Question ID :- (Question ID = 51904 )

Question Description :- HP12_GENERAL APTITUDE_SET2Q17

Question Stimulus :-

Four kids P, Q, R and S are up on the ladder. P is further up the ladder than Q, Q is between
P and R. If S is further up than P, who is the third from the bottom?/ IR 9 P,Q,R RS



%ﬁ'ﬁﬁﬂ?@%%l AT WRFIWEIQ,PARRFATRIAR S, PF R FW g, T A dRR1 Hi

(Option ID = 147478 )
Q

(Option ID = 147479 )

P

(Option ID = 147480 )

R

(Option ID = 147481 )

Cannot be determined/3ITd T-I’aprﬁ)'CIT Sl b dl

Option ID :-0Correct Answer :-(Option ID = 147479 ) P

S)

Question ID :- (Question ID = 51902 )

Question Description :- HP12_GENERAL APTITUDE_SET2Q15
Question Stimulus :-

A cube of edge 3 cm is painted black from all its faces. It is now cut into 1 cm cubes. How
many of these shall be painted on two faces?/ 3 L] HﬁTH’I@[WW% I va® Fa I A
wﬁ&nﬁ%%l 3 I 1 I Yot ara 791 A P1e femr mar @ 1 399 | ) fhan w= §, s ot
Bad i 572

(Option ID = 147470 )

8

(Option ID = 147471)

6

(Option ID = 147472 )

4

(Option ID = 147473 )

12

Option ID :-0Correct Answer :-(Option ID = 147473 ) 12

6)

Question ID :- (Question ID = 51899 )

Question Description :- HP12_GENERAL APTITUDE_SET2Q12

Question Stimulus :-



At what time between 6°0 clock and 7’ O clock will the hand of the clock be together?/ 6 ol
¥ 7 99 & 0 TSI BT AT (59 GHT TH 1Y g2

e (Option ID = 147458 )

g g

3211 minutes past 6/6 TSI 3211 AT W)

« (Option ID = 147459 )

g g

311 minutes past 6/6 dSTh 311 e R

e (Option ID = 147460 )

g ]

2811 minutes past 6/6 doih 281 e W)

e (Option ID = 147461)

2 =]

301 minutes past 6/6 I5T®Y 30 A e W)

g g

Option ID :-0Correct Answer :-(Option ID = 147458 ) 3211 minutes past 6/6 S5 3211 fiFe W)
7

Question ID :- (Question ID = 51891 )

Question Description :- HP12 GENERAL APTITUDE_SET2Q4

Question Stimulus :-

DIRECTIONS: These questions are based on continuous alphabet type, a letter series is
given which has some blanks, find the alternatives that complete the series./ﬁi‘ﬂ =

gﬁﬂﬁﬁ,@ﬂ&ﬁgﬁ%ﬂ‘fﬁﬁﬂﬁﬁ@ﬁﬁq%mﬁ% | g} faweq &1 79+
|

-b-ab-cb-a-c

e (Option ID =147426)
accba

e (Option ID = 147427)
abacb

« (Option ID = 147428)
cacab

e (Option ID = 147429)
bcbcc

Option ID :-0Correct Answer :-(Option ID = 147428 ) cacab

8)



Question ID :- (Question ID = 51898 )
Question Description :- HP12_GENERAL APTITUDE_SET2Q11
Question Stimulus :-

One evening before sunset Sumit and Mohit were talking to each face to face. If Mohit's
shadow was exactly to his right side which direction was Sumit facing?/U® X[MH '\‘Iq'f'\‘?l I th
Giora 3T Hifgd T gk 3 3R & b 399 A 910 H 78 A | i Aifea ot WoTs 39b
a"la?ars‘aﬁva??éi a‘rgﬁamwmmaﬂaﬁ?mv

e (Option ID =147454)
North/3«R

e (Option ID =147455)
South/ Gf&roT

e (Option ID = 147456 )
East/ 11&

e (Option ID =147457)

Data Inadequate/ m g

Option ID :-0Correct Answer :-(Option ID = 147455 ) South/ af&ror
9)

Question ID :- (Question ID = 51901 )

Question Description :- HP12_GENERAL APTITUDE_SET2Q14
Question Stimulus :-

Raman is sixth from the left and Vivay is tenth from the right end in a row of boys. If there

are eight boys between Raman and Vivay, how many boys are there in the row?/ FI?:'T:be Gl

TH R A WA TTA TS ™A R 2 3R Aag v A T WA R R | afe w0 iR RAau ¥
d19 § orrs dsd & o ufed & oo frad dsd 872

e (Option ID = 147466 )
23

e (Option ID = 147467 )
24

e (Option ID = 147468 )
25

e (Option ID = 147469 )

Data Inadequate/ Gﬁlﬂo%’ KI i



Option ID :-0Correct Answer :-(Option ID = 147467 ) 24

10)

Question ID :- (Question ID = 51888 )

Question Description :- HP12_ GENERAL APTITUDE_SET2Q1

Question Stimulus :-

DIRECTIONS: In the question below, there are few statements followed by few conclusions.

You have to take the given statements to be true even if they seem to be at variance with
commonly known facts and then decide which of the given conclusion logically follow(s)

from the given statements./fIST: ﬁ%%quﬁwamaﬁ?maﬁw

T § | MU 3T e i SU= B I 91941 & HA 1 3 Id3d a2t 9 = udila gl 8t |
Tt frewut o1 ufew fb au Fifore % e e el A F i J1 THETd 3U I SR HRdl
2, 9% Tdyd aa po Wl |

Statements:/ ®Y:
All horses are rivers./ ‘Eﬁé_', H‘W% |
All rivers are jungles/at AfeaT, STTA § |
No Jungle is flower./ ®13 SITTd B 81 © |
Conclusions:/fsH:
l. No horse is rowerI?ﬁ'&f' ‘EI-E'»T, tﬁ’ﬁlﬁ% |
Il. No flower is horselﬂﬁg Bd, Eﬁ%T :l'eﬁ% |
e (Option ID = 147414 )
If only Conclusion | follows/afe Fad sy | S0 HIdT ?
e (Option ID = 147415)
If only Conclusion Il follows/afe Fad s | ST BT ?
e (Option ID = 147416 )
If neither Conclusion | nor Il foIIowsRT%T-Iﬁ'Wﬁf 1< GIWWT%
e (Option ID = 147417 )
If both Conclusions | and Il follow/afe - farsawtd GIWW%

Option ID :-0Correct Answer :-(Option ID = 147417 ) If both Conclusions | and Il followrafe ZﬂT'ﬁ'

e SrgeRuT B §
11)
Question ID :- (Question ID = 51897 )

Question Description :- HP12_GENERAL APTITUDE_SET2Q10



Question Stimulus :-

Vishal walks 2 km towards South. He then turns right and walks 3 km, he now turns left and
walks 5 km. Further, he moves 2 km after turning to the left. In which direction is he facing?/

fa=mer 2 fht gféror ot oz Tear 8 | 98 fibR T gear 8 8k 3 fH! Terar 8, a8 fhe Tiw gsar
2 3fik 5 fHt TaaT 8 | 3N 98, Ti¢ go & q1q 2 fooel} gran @ | 98 [ fozn 4 g fSa gu g?

e (Option ID =147450)
West/af3y

e (Option ID =147451)
Eastfl]'\a:

e (Option ID =147452)
North/3«i}

« (Option ID = 147453 )
South/gféroT

Option ID :-0Correct Answer :-(Option ID = 147451 ) Eastl‘]ﬁ
12)

Question ID :- (Question ID = 51893 )

Question Description :- HP12_GENERAL APTITUDE_SET2Q6

Question Stimulus :-

In a certain code "AUTOMATIC' is written as 'PUVBMBUJD'. How is 'BUILDINGS' written in
that code?/fel T3 e W '"AUTOMATIC' &1 'PUVBMBUJD' H1 ferar iTaT 81 33t e o
'BUILDINGS' ! 5T yoR fa@?

e (Option ID = 147434 )
MJVCDJOHT
e (Option ID =147435)
CVJMDJOHT
e (Option ID = 147436 )
MKVCDTHOJ
e (Option ID =147437)
CVJMDTHOJ
Option ID :-0Correct Answer :-(Option ID = 147434 ) MUVCDJOHT
13)

Question ID :- (Question ID = 51896 )



Question Description :- HP12 GENERAL APTITUDE_SET2Q9

Question Stimulus :-

DIRECTIONS: Arrange the following words according to the English chtlonaryfﬁffﬂ 3Tt
NGHIY F AR, I Tregf F saafRUd #3:

(@) slunk (b)slung (c)slump (d)slum
e (Option ID = 147446 )
(d), (c), (b), (a)
e (Option ID =147447)
(c), (b), (d), (a)
e (Option ID = 147448 )
(c), (a), (d), (b)
e (Option ID = 147449 )
(d), (b), (c), (a)
Option ID :-0Correct Answer :-(Option ID = 147446 ) (d), (c), (b), (a)
14)
Question ID :- (Question ID = 51892 )
Question Description :- HP12_ GENERAL APTITUDE_SET2Q5

Question Stimulus :-

How many triangles are there in the following figure?lﬁ'l:l GITEEﬁ o fpaq ﬁ‘lj\?f %'?

(Option ID = 147430 )
16

(Option ID = 147431 )

13

(Option ID = 147432)

9

(Option ID = 147433 )
7



Option ID :-0Correct Answer :-(Option ID = 147430 ) 16

15)

Question ID :- (Question ID = 51890)

Question Description :- HP12_ GENERAL APTITUDE_SET2Q3

Question Stimulus :-

What will come in place of question (?) mark in the following series?/f=T 9oft & yeqaES
g (?) & RIF TR o7 3Mum?

ZA, BY, XC, DW, ?
e (Option ID = 147422)
VF
e (Option ID = 147423)
EU
e (Option ID = 147424)
EV
e (Option ID = 147425)
VE
Option ID :-0Correct Answer :-(Option ID = 147425 ) VE
16)
Question ID :- (Question ID = 51894 )
Question Description :- HP12 GENERAL APTITUDE_SET2Q7

Question Stimulus :-

CANCELLED

DIRECTIONS: In each of the following questions, choose the set of numbers out of the four
options that is similar to the given set. fﬁﬁi‘!’f: ﬁq Mg Ud® U § IR fawen 4 @ Udh
B3 & TG DT 994 B1 Wil ST TT HYg & AU &1 |

(9, 49, 121)
e (Option ID =147438)
(1, 9, 25)
e (Option ID = 147439 )
(4, 25, 49)
e (Option ID =147440)

(81, 36, 49)



o (Option ID = 147441)

(25, 36, 49)

Option ID :-0Correct Answer :-(Option ID = 147439 ) (4, 25, 49)

17)

Question ID :- (Question ID = 51895 )

Question Description :- HP12_ GENERAL APTITUDE_SET2QS8

Question Stimulus :-

Pointing to a photograph of a girl, Raavan said, “She has no sisters or daughters but her
mother is the only daughter of my mother”. How is the girl in the photograph related with

Raavan’s mother?/T® AS®! ] AR P1 MY SRT P §Y, AU Hodl § “FHD! DI 98 AT
ﬁﬁ%ﬁ?wﬁﬁ,ﬁﬁﬁﬁsﬁ?ﬁaﬁﬁlmﬁw@ma@ﬁwaﬂﬁﬁm
PR Heftd 32

(Option ID = 147442 )
Niece/HTsil

(Option ID = 147443 )
Granddaughter/ rfa=
(Option ID = 147444 )
Daughter-in-law/dg
(Option ID = 147445)

Cannot be determined/3ITd g1 fBdT SIT THdT

Option ID :-0Correct Answer :-(Option ID = 147443 ) Granddaughter/ rfa=



